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class WEATHER _STATION create make
feature - Attributes
cc: CURRENT_CONDITIONS ;
wd: WEATHER DATA
feature - Commands
make

doz:reate wd.make @ @

create (cc)make (wd

(25)
créate

fd: FORECAST ;

sd: STATISTICS H

@ JATHE-P

fd. make (W ; create sd.make (wd

class FORECAST
inherit OBSERVER
feature - Commands
make (a_weather._data:
do weather_ data :=
weather_data.attach (Current)
ensure weather_data = a_weather_data
weather_data.observers.has (Current)

WEATHER_DATA)
a_weather_data

end

class CURRENT_CONDITIONS
inherit OBSERVER a/
feature - Commands H

make ( —PATA) (04
ather _dat —
M weather—data.attach ()

ensure weather_data = a _weather data
weather_data.observers.has (Current)

egd

—> wd. se{_measurements (15, 60, 30. 4)
ﬁﬂﬁ% Z
~—>cc.displ }/;fd.display ; sd.display
—> cc¢display); fd.display ; sd.display
wd.set_measurements (11, 90, 20)
wd.notify
cc.display ; fd.display ; sd.display
end
end I /0o \ G
W

class STATISTICS
inherit OBSERVER
feature - Commands
make (a_weather_data:
do weather_data :=
weather_data.attach (Current)
ensure weather_data = a_weather _data
weather_data.observers.has (Current)

WEATHER _DATA)
a weather. data

end
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class (CURRENT_CONDITIONS )

class WEATHER STATION create make

create make—

feature - Initialization

feature make (wd: WEATHER DATA)
cc: CURRENT_CONDITIONS . g o
make wd. change on_temperature.Subscribe ent’) update—temperature)
do create wd.make (9, 75, 25) wd change.. one_e},_mg%ﬁ subscr_ibe (a update humidity)
create (cc.make (wd) -y,
wd . setumeasurements (15, 60, 30.4) feature 'ﬁﬂf UM_A/,.\('?
cc.display temperature: REAL u ;(
wd.set_measurements (11, 90, 20) humidity: REAL %ﬁ = <5 —>
cc.display We do tempeWature := t end
end update_humidity REAL)Y do humidity := h end
end display do ... end
end
CJ clasg WEATHER_DA }
B create e
clas@w t{-J feature —- Measurements
create make o temperature: REAL ; humidity: REAL ; pressure: REAL
feature —— Initializatio C'EL‘ Z correct_limits(t,p,h: REAL): BOOLEAN do ... end
actions: LINKED_LIST (BROCEDURE WRGUMENTS] | make (t, p, h: REAL) do ... end
e —— feature - Event for data nges
make do create actions.make
feature change_-on-temperature :( EVENT?[TUPLE [REAL] Jonce create Result end
1 ysubscribe (an_action: (PROCEDURE [ARGUMENTS], (change-on-humidity : EVENT[TUPLE [REAL]]once create Result end
require action not_already_subscribed? not actions.h change_on_pressure : EVENT[TUPLE [REAL]]once create Result end

do actions.extend (an_action)
ensure action_subscribed:
> (publish (args: G)

do from actions.start jons.after
loop m@ (args)| ;
end
end m 0{‘?5“3 MMCD'7$>

action.has(an_action)

actions. forth end

fe o
et_measuremen

=

end t, p,

do temperature := t ;

change_on_temperature .

h: REAL)

require cor ect:limits—(t,p,h)

pressure := humidity := h

ublis

change_-on_humidity

change_on_pressure
end

.publish
.publish

invariant correct_limits(temperature,

pressure, humidity) end




